
”Eleven”

“Eleven is simple to multiply
When we're talking about factors from one to nine 
Your answer is the factor placed side by side”

Directions:  Use the lyrics above, to help you solve the problems below.

  4 x 11 = ______

6 x 11 =  ______

2 x 11 = ______

  1 x 11 = ______

7 x 11 =  ______

5 x 11 = ______

  8 x 11 = ______

3 x 11 = ______


9 x 11 = ______

  2 x 11 = ______

1 x 11 = ______


6 x 11 = ______

  7 x 11 = ______

9 x 11 = ______


4 x 11 = ______

  5 x 11 = ______

8 x 11 = ______


3 x 11 = ______

Explain why you like to multiply by eleven.

_____________________________________________________

_____________________________________________________

_____________________________________________________
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”Eleven”

Answer Key

  

4 x 11 = 44


6 x 11 = 66

2 x 11 = 22
 

 1 x 11 = 11

7 x 11 = 77

5 x 11 = 55
 

 8 x 11 = 88

3 x 11 = 33

9 x 11 = 99
  

2 x 11 = 22


1 x 11 = 11

6 x 11 = 66
  

7 x 11 = 77


9 x 11 = 99

4 x 11 = 44
  

5 x 11 = 55


8 x 11 = 88

3 x 11 = 33
Explain why you like to multiply by eleven.



Answers will vary.


